The Redeemer C. of E. Primary School

Year 5 Mathematics Core Knowledge Organiser

Place Value Decimals Vocabulary
) decimal «p«omi thowsandihs Multiple—the answer to a multiplication
muidlicrs ta=n havrdred.es windredihs
thowsand.s
l hundred l l l Factor—a number which can divide into
1 1 1 a multiple without leaving a remainder
2 , 8 L’. ; 2 " ’ L'. 3 Common Factor—a number which is a
4 4 factor of two or more other numbers
A0 9 8 I T | 2 4 0 1 2 b b 1 9 10
I l I I I l I l | l | l | l | l I l l l I Prime Numbers—a number with only 1 pair
Measure Conversions Using known tables facts of factors (1 and itself) 2 = only even prime
1 centimetre | 10mm Ix5 =15 Composite Numbers—non-prime numbers
1 metre 100cm - . . .
1 Klomebo 1.000 m 30x 5 = 150 1is not a prime or composite number
e T 300x 5 = 1!5[][] Prime Factor—a factor of a number that is
1 kilometre | 0.625 (5/s) mile 3000x5 =15.000 also a prime number,, ,
! ’ 2=2x2=k
1 kilogram 1,000 grams D . 3 X 5 = 1 . 5 Square number— 33 3 3 3 27
_ =3 x3x3=
1 litre 1,000 millilitres 0.03x5=0.15 Cube number -
Equivalent fractions, decimals and percentages Roman Numerals Multiplication
o 1 2 3 4 5 6 7 8 9 10
10 10 10 10 10 10 110 10 10 10 10 factor  factor
0% 10% 20% 30% 40% 50% 60% 70 80% 90% 100% 11710 ¢ of 6 of 6 tiol
| I I | I | I I I I | LN / mutiple
r T T T T T T T T T 1 5 v 500 D of 3
o 0.1 0.2 0.3 04 05 0.6 0.7 0.8 09 1 2)(3 6‘_‘ tiol
) e . multiple
o ‘ : 5 e [0 X[ M| el i
4 4 4 4 4
o = ¢ 0% |50 L 000
o 0.25 0.5 075 1

Subtraction iplicati Bus Stop Division

7567 7\;7é7812311 4131517 short division
A : - ol decimal
+ 4 r6278 4 7358 2 6 1 4 2 (4357x6) ol 5§C|2n51a
2333845 1 3 07 1 0 (4357x30) Liz)e 2|7
T 1

; £ 3@5473 1 5685 2 1 f;iitzi/or;%

Fractions/decimals Rounding Multiply and Divide

multiplying by 10, 100 and 1000

fraction and decimal equivalence Round to the nearest whole number _ Hi T o]t [h [t
1.673
1 ) 28 ) 025 | J 1 294 |5
PRTTI —— B I
1 ( 2 ) ty2]4]s
1 i 50 T 1 2, 4 1510
E B ﬁ - 0.50 Round to the nearESt tenth dividing by 10, 100 and 1000
429 WEEEC
3 75
. == 075 II‘::III::I el
41241
[ 34 ) 3.5 g




Fractions Percentages
- - - adding fractions with different multiply fractions by whole numbers
comparing and ordering fractions denominators ) 1 {] 5 5[}“;
3 3 1 ) . - . 1]
2 =z — First express the fractions as the same 2
8 4 2 denominator
8 3 11 1
= + = == 4 _ 12 _ 52 = 0.25 25%
12 12 12 - X 3= - = 25 1
3 E f E @ E multiply mixiclilrl:l;::nrl;ers by whole % [] . 2 20[]},-"]
8 8
subtracting fractions with .
different denominators ..‘ ...' 2 i)
8 3 5 32x2 =62 T 0.4 40%
A 5 5 3
1z 1z 12 method one: 3
3x2=6 2 0.6 60%
. < . < - 1) Multiply the whole 5
2 > 2 4 num_ber’s
R 4 0
mixed numbers and improper fractions 5 ‘:‘;‘glfh"";mber = U . 8 8[} "Ilru
simplifying fractions 6 + g =6 ) Addthe together g
‘ ) 5
.... d i ——3. E method two: 1) Convert the mixed i 0.3 30“;"{0
. fracti 12 _—3" 4 E X E = E ?nli;zirefofrzztion lﬂ
mixed number 'MPFOper iraction H ' ! 5 1 s 2) Multiply the
improper fraction
2 E 111 I | t:ypthepwhole i 0.? ?Dufllru
4- o —— [ 1 34 _g* , number 10
5 5 5775 D e b
Geometry Angles 3 Dimensional (3D) shapes
. Angles around a Name: cube Name: triangular prism
angles Angles in a point add up to  |r.s F:5
straight line add 3600
up to 180° E:12 E: 9
Vi 8 Vi 6 A’
Name: triangular pyramid Name: cuboid
a0e
F: 4 F:6
acute angle right angle ) 700 E:6 E:12
less than 90° exactly 90° 30 v:a v:g -V
Name: cone Name: cylinder
F:1or2 F:2o0r3
\ ‘g Remember: face ‘ E
E:Oor1l E:Oor2
edge V:0or1l - V:0
obtuse angle Reflex angle Name: sphere Name: square pyramid
more than 90° more than 180° " R fs
less than 180°  less than 360° vertex (corner] Eo .
ry V:0 ViS5

Measurement: conversion Perimeter and Area Timetables
metric units of measure PeRIMeter is the length all the way convert units of time
around the edge of a shape. = i
i1 length £ 100 60 se_cunds 1 minute
. "‘,,-"""‘“'--\H Rectangle’s perimeter =2length+2width 60 minutes= 1 hour
100mm=1 :m 100cm=1m area of rectangles 24 hﬂurs: 1 da‘)'
R, L +1,000 R 7 days = 1 week
T N X100 12 months = 1 year
3lcm —_
1,000m = 1 km 365 days = 1 year 366 leap yr.
. ry
"‘--1-.-[-]-6'[']/ o Pitreet Subtraction| Times |Calculation| Total
XL 4 cmx 3 cm= 12 cm? e Way | Square | Street | Avenue
mass capacity
> em Busl| wms6 | 1200 | 212 | 1219 | 025
+ 1,000 + 1,000 :
= —— & cm
P 2N 6 cm x 2 cm= 12 cm? Bus2| 205 | 1210 | w2 | 228 | 23
1,000g = .ljkg 1;{:{]0 ml :} | Area = surface covered.
S M Bus3| BN | 22 | 0% | s | 0
x 1,000 % 1,000 Rectangle = length X width




